Exploded View Explosionszeichnungen Vues Eclatées Plano De Despiece BHE #4H

Body & Tire Karosserie & Reifen {/ '{ { . / - / 52 Z {I / '/@j’
Carrosserie & Pneu BASH,
Cuerpo & Neumatico

EEREKE RF1E&RA4Y

ARA727414 S
S N
S

ARA480039

ARA480049 CLEAR

AR721310—%¢

AR721308

AR709003-J

AR715001 g, ‘
AR721308
AR709003 J)

AR715001 - : 921308
) E,TAR709003
AR715001

ARA414001 RED/BLUE

ARA414005 TEAL/BRONZE
ARA414002 CLEAR

PRE GLUED
ARA550083 GUN METAL

©2021 Horizon Hobby, LLC. ARRMA RC is a trade name of Horizon Hobby Ltd.

Horizon Hobby Ltd is a subsidiary of Horizon Hobby LLC WWW.ARRMA-RC.COM


https://www.hobbyquarters.com/ara727414-double-socket-button-head-screw-m4-x-14m.html
https://www.hobbyquarters.com/ara480039roll-cage-set.html
https://www.hobbyquarters.com/ar722320-flat-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ara727414-double-socket-button-head-screw-m4-x-14m.html
https://www.hobbyquarters.com/ar722310-flat-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ara480039roll-cage-set.html
https://www.hobbyquarters.com/ar722320-flat-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ar721310-button-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ara480049infraction-wing-set-clear.html
https://www.hobbyquarters.com/ar721308-button-head-screw-3x8mm-10.html
https://www.hobbyquarters.com/ar709003-washer-3x8x05mm-10.html
https://www.hobbyquarters.com/ar715001-nylon-nut-3mm-4.html
https://www.hobbyquarters.com/ar721308-button-head-screw-3x8mm-10.html
https://www.hobbyquarters.com/ar709003-washer-3x8x05mm-10.html
https://www.hobbyquarters.com/ar715001-nylon-nut-3mm-4.html
https://www.hobbyquarters.com/ar721308-button-head-screw-3x8mm-10.html
https://www.hobbyquarters.com/ar709003-washer-3x8x05mm-10.html
https://www.hobbyquarters.com/ar715001-nylon-nut-3mm-4.html
https://www.hobbyquarters.com/ara414001infraction-4x4-mega-finished-body-tbc.html
https://www.hobbyquarters.com/ara414005infraction-4x4-mega-finished-body-tbc.html
https://www.hobbyquarters.com/ara414002-infraction-4x4-clear-body-with-decals.html
https://www.hobbyquarters.com/ara550083-dboots-katar-35-085-24-tire-set-glued-1.html
https://www.hobbyquarters.com/ara480039roll-cage-set.html

Exploded View Explosionszeichnungen Vues Eclatées Plano De Despiece BHE #4H
Front Vorne Avant Delantero {/ Y / 7’ -'/ /HZ///I/ '/K;Mj
JOY K B LY A BASH,

€ ARA610045
 AR715001 \

AR708008
@ AR310779 - AR721320
) ARA610041 [/ ART2I320 G é &
‘ = ARA330686° 7~  ARA340179
S — AR330515 ‘
——— AR 10 ARA610045
AR713028 a ARAT24 425, ARA610045
\ \
(\/// ‘.
ARA330688 \)@ :
Q% /AR340137
AR721414 _ ARA610044 d
ARA31099 M Il
- > A 9
&, AR722310
__AR330515 P
a

AR340138
~ AR330515  \pA330688

ARA330685 8 |
AR721320 @} \@ ‘ ARA724435

v,
% ARA724425
: AR330515
% e

ARA330688

¢ . 2 #
@S
i @i\ _ ARA33.0688¢/@~%

@jﬁ;
AR721303 %
\ \/,
AR340138 — 52 ——AR330515
g = [ ARA310995
AR721414 {D\AR721316 ARA310992 ( %‘
ARA610044@

AR330515
ARA330688

ARA610041
, AR713028
/ ___AR310779

~aR709003
AR721316
ARA330683 \
|
ARJ21E ° AR330457 &) % \ ARA330686
" (NO SPRINGS ) \
[ ) > " ARA724435 (@ ART21ATA~ 7 \
ARA330692 AR330515 ~X())AR340138
AR721316 > AR721303 &
AR722415 ' AR330468@/
AR709003 = & o=
AR721320

] ) A |
AR721303 o U

<) | Q8

NS L &2 [

@69\; AR723316 ¥ =
/' ARA330701
[ ARZ22415 (o SPRINGS) || |

ARA330692 pp771303

ARA330683 \
ARA330685 —

L~ AR340138

."“ :;\\
& T AR721414

=

\\\ 3~ ARA330692
Nr—— —— ARNAIIU0I £
— % 6)/
ARA320586
ARA330694 / \
AR390165 :
ARA702004

__ARA320587

AR722415%

AR708008

WWW.ARRMA-RC.COM

©2021 Horizon Hobby, LLC. ARRMA RC is a trade name of Horizon Hobby Ltd
Horizon Hobby Ltd is a subsidiary of Horizon Hobby LLC


https://www.hobbyquarters.com/ar310779-composite-wheel-hex-14mm-set-4-4x4.html
https://www.hobbyquarters.com/ar709003-washer-3x8x05mm-10.html
https://www.hobbyquarters.com/ara310992-composite-slider-front-driveshaft-set-1.html
https://www.hobbyquarters.com/ara310992-composite-slider-front-driveshaft-set-1.html
https://www.hobbyquarters.com/ar721310-button-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ar724303-set-screw-3x3mm-10.html
https://www.hobbyquarters.com/ara330701-shock-set-11mm-bore-70mm-length-2000cst.html
https://www.hobbyquarters.com/ar721303-button-head-hex-machine-screw-3x3mm-10-4x.html
https://www.hobbyquarters.com/ar722415-flat-head-hex-machine-screw-4x15mm-4-4x4.html
https://www.hobbyquarters.com/ar723316-cap-head-hex-machine-screw-3x16mm-4.html
https://www.hobbyquarters.com/ara330692-sway-bar-mounting-set-1-8-onroad.html
https://www.hobbyquarters.com/ara330694-front-sway-bar-20mm.html
https://www.hobbyquarters.com/ar390165-body-clip-retainer-1-10-scale-black-4.html
https://www.hobbyquarters.com/ara330692-sway-bar-mounting-set-1-8-onroad.html
https://www.hobbyquarters.com/ar320357-body-post-big-rock.html
https://www.hobbyquarters.com/ara320587-foam-bumper.html
https://www.hobbyquarters.com/ar390165-body-clip-retainer-1-10-scale-black-4.html
https://www.hobbyquarters.com/ar723310-cap-hd-screw-m3x10mm-10.html
https://www.hobbyquarters.com/ar722415-flat-head-hex-machine-screw-4x15mm-4-4x4.html
https://www.hobbyquarters.com/ar722415-flat-head-hex-machine-screw-4x15mm-4-4x4.html
https://www.hobbyquarters.com/ara330701-shock-set-11mm-bore-70mm-length-2000cst.html
https://www.hobbyquarters.com/ara320589-aluminum-ff-suspension-mount-red.html
https://www.hobbyquarters.com/ara320588lower-bumper-mount-set.html
https://www.hobbyquarters.com/ar330457-hinge-pin-4x63mm-4x4-2.html
https://www.hobbyquarters.com/ara724435-set-screw-m4x35mm-4.html
https://www.hobbyquarters.com/ara330688-rod-end-set-1-8-onroad.html
https://www.hobbyquarters.com/ar721316-button-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ar330468-hinge-pin-3x31mm-2-4x4.html
https://www.hobbyquarters.com/ara330683-front-suspension-arms-1-pair.html
https://www.hobbyquarters.com/ar709003-washer-3x8x05mm-10.html
https://www.hobbyquarters.com/ar721310-button-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ar721303-button-head-hex-machine-screw-3x3mm-10-4x.html
https://www.hobbyquarters.com/ar340138-flanged-tube-4x4-2.html
https://www.hobbyquarters.com/ar721414-button-head-screw-4x14mm-4.html
https://www.hobbyquarters.com/ar721414-button-head-screw-4x14mm-4.html
https://www.hobbyquarters.com/ara320586-upper-bumper-bodymount-set.html
https://www.hobbyquarters.com/ara702004cap-head-screw-m25x25mm-4.html
https://www.hobbyquarters.com/ara702004cap-head-screw-m25x25mm-4.html
https://www.hobbyquarters.com/ara320585-lower-front-bumper-and-rear-diffuser-set.html
https://www.hobbyquarters.com/ar723308-cap-head-screw-3x8mm-10-4x4.html
https://www.hobbyquarters.com/ara330685c-hubs-1-pair.html
https://www.hobbyquarters.com/ara320584composite-upper-gearbox-covers-and-shock.html
https://www.hobbyquarters.com/ar715001-nylon-nut-3mm-4.html
https://www.hobbyquarters.com/ar721316-button-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/dtxc5251-steering-parts-set.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html
https://www.hobbyquarters.com/dtxc5251-steering-parts-set.html
https://www.hobbyquarters.com/dtxc5251-steering-parts-set.html
https://www.hobbyquarters.com/ara610045-ball-bearing-5x10x4mm-2rs-2.html
https://www.hobbyquarters.com/ar715001-nylon-nut-3mm-4.html
https://www.hobbyquarters.com/ara727312-m3x125mm-screw-shaft-2.html
https://www.hobbyquarters.com/ara610045-ball-bearing-5x10x4mm-2rs-2.html
https://www.hobbyquarters.com/ar340137-steering-post-2-4x4.html
https://www.hobbyquarters.com/ar722310-flat-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara724425set-screw-m4x25mm-4.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ar722320-flat-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ara330688-rod-end-set-1-8-onroad.html
https://www.hobbyquarters.com/ara310995wheel-axle-2.html
https://www.hobbyquarters.com/ara610044-ball-bearing-12x18x4mm-2rs-2.html
https://www.hobbyquarters.com/ara330686-steering-block-1-pair.html
https://www.hobbyquarters.com/ara610041-ball-bearing-6x12x4mm-2rs-2pcs.html
https://www.hobbyquarters.com/arac8003-ar713028-pin-25x12mm-10.html
https://www.hobbyquarters.com/ar310779-composite-wheel-hex-14mm-set-4-4x4.html
https://www.hobbyquarters.com/ar708008-flanged-nyloc-locknut-4mm-silver-4.html
https://www.hobbyquarters.com/ar320357-body-post-big-rock.html
https://www.hobbyquarters.com/ar721303-button-head-hex-machine-screw-3x3mm-10-4x.html
https://www.hobbyquarters.com/ara330692-sway-bar-mounting-set-1-8-onroad.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ar721316-button-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ar340138-flanged-tube-4x4-2.html
https://www.hobbyquarters.com/ar721316-button-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ar721316-button-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ara330683-front-suspension-arms-1-pair.html
https://www.hobbyquarters.com/ar721414-button-head-screw-4x14mm-4.html
https://www.hobbyquarters.com/ar340138-flanged-tube-4x4-2.html
https://www.hobbyquarters.com/ar340138-flanged-tube-4x4-2.html
https://www.hobbyquarters.com/ar721316-button-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ar330468-hinge-pin-3x31mm-2-4x4.html
https://www.hobbyquarters.com/ar721303-button-head-hex-machine-screw-3x3mm-10-4x.html
https://www.hobbyquarters.com/ara724435-set-screw-m4x35mm-4.html
https://www.hobbyquarters.com/ara330688-rod-end-set-1-8-onroad.html
https://www.hobbyquarters.com/ara330688-rod-end-set-1-8-onroad.html
https://www.hobbyquarters.com/ara310995wheel-axle-2.html
https://www.hobbyquarters.com/ara330686-steering-block-1-pair.html
https://www.hobbyquarters.com/ara610041-ball-bearing-6x12x4mm-2rs-2pcs.html
https://www.hobbyquarters.com/ara610044-ball-bearing-12x18x4mm-2rs-2.html
https://www.hobbyquarters.com/ara330685c-hubs-1-pair.html
https://www.hobbyquarters.com/ar721310-button-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ar721414-button-head-screw-4x14mm-4.html
https://www.hobbyquarters.com/ara724425set-screw-m4x25mm-4.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara330688-rod-end-set-1-8-onroad.html
https://www.hobbyquarters.com/ar721310-button-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ar721310-button-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/arac8003-ar713028-pin-25x12mm-10.html
https://www.hobbyquarters.com/ar708008-flanged-nyloc-locknut-4mm-silver-4.html

Exploded View Explosionszeichnungen Vues Eclatées Plano De Despiece RHER B4R

Centre Center [[,'[ /:/A./l./HZ///I/A V/KM

Centre Centro
&2 — HD

— jAR72331 6

AR701404 _
AR723308 | |

| &5

AR709003 <)

/,
ARA311113
ARA610046

AR721312 |

I ,
ARA340179 f’ AR722316 -

AR722310

AR722310 /ﬂ o ¢

AR310793

e ®
L e

ARA320608

40

— AR320413

AR721312
ﬁ-, AR721320

~ AR715005

AR722440/

~_

AR722415
AR722440

AR320421

l/AR721312

©2021 Horizon Hobby, LLC. ARRMA RC is a trade name of Horizon Hobby Ltd. WWW.ARRMA-RC.COM

Horizon Hobby Ltd is a subsidiary of Horizon Hobby LLC


https://www.hobbyquarters.com/ar709003-washer-3x8x05mm-10.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html
https://www.hobbyquarters.com/ara390288-mega-brushed-2s-esc-w-ic3-connector.html
https://www.hobbyquarters.com/spms650-5kg-servo-plastic-gear.html
https://www.hobbyquarters.com/ara340181-direct-mount-servo-saver-23t-spline.html
https://www.hobbyquarters.com/dtxc5251-steering-parts-set.html
https://www.hobbyquarters.com/ar722316-flat-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ar310884-comp-center-slider-driveshaft-blx-3s.html
https://www.hobbyquarters.com/ar310808-composite-slipper-clutch-nut-2-4x4.html
https://www.hobbyquarters.com/ar310793-slipper-spring-4x4-47032075.html
https://www.hobbyquarters.com/ar310794-slipper-shaft-red-4x4.html
https://www.hobbyquarters.com/ar722310-flat-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/spmslr300-slr300-3-channel-slt-receiver-single-pro.html
https://www.hobbyquarters.com/arrma-ara390301-mega-570-brushed-motor.html
https://www.hobbyquarters.com/ar320400-radio-box-set-4x4.html
https://www.hobbyquarters.com/ar390001-antenna-pipe-set-60mm.html
https://www.hobbyquarters.com/ar724303-set-screw-3x3mm-10.html
https://www.hobbyquarters.com/ar709003-washer-3x8x05mm-10.html
https://www.hobbyquarters.com/ar723308-cap-head-screw-3x8mm-10-4x4.html
https://www.hobbyquarters.com/ar701404-set-screw-4x4mm-10.html
https://www.hobbyquarters.com/ar723316-cap-head-hex-machine-screw-3x16mm-4.html
https://www.hobbyquarters.com/ara311113-composite-motor-mount-set.html
https://www.hobbyquarters.com/ara311077-15t-08mod-1-8-bore-cnc-steel-pinion-gear.html
https://www.hobbyquarters.com/ara610046-ball-bearing-10x15x4mm-2rs-2.html
https://www.hobbyquarters.com/ar713024-pin-2x10mm-4.html
https://www.hobbyquarters.com/ar310789-slipper-hub-set-4x4.html
https://www.hobbyquarters.com/ara310994-slipper-pad-4.html
https://www.hobbyquarters.com/ara610046-ball-bearing-10x15x4mm-2rs-2.html
https://www.hobbyquarters.com/ara311112-spur-gear-55t-08mod.html
https://www.hobbyquarters.com/ara311109-55t-slipper-set-08-mod.html
https://www.hobbyquarters.com/ara320608-composite-chassis-lwb.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html
https://www.hobbyquarters.com/ar320413-battery-mounting-set-4x4.html
https://www.hobbyquarters.com/ar721320-button-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ar721320-button-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ar715005-nut-m4-nylon-4.html
https://www.hobbyquarters.com/ar722415-flat-head-hex-machine-screw-4x15mm-4-4x4.html
https://www.hobbyquarters.com/ar320411-chassis-spine-block-multi-tool-4x4.html
https://www.hobbyquarters.com/ar320406-short-course-nerf-bars-2-4x4-senton-mega.html
https://www.hobbyquarters.com/ar320421-sc-side-guard-set-4x4-senton-mega.html
https://www.hobbyquarters.com/ar320413-battery-mounting-set-4x4.html
https://www.hobbyquarters.com/ar722310-flat-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html
https://www.hobbyquarters.com/ar722440-flt-head-hex-machine-screw-4x40mm-4x4-4.html
https://www.hobbyquarters.com/ar722440-flt-head-hex-machine-screw-4x40mm-4x4-4.html
https://www.hobbyquarters.com/ar320421-sc-side-guard-set-4x4-senton-mega.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html
https://www.hobbyquarters.com/ar722440-flt-head-hex-machine-screw-4x40mm-4x4-4.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html
https://www.hobbyquarters.com/ar320421-sc-side-guard-set-4x4-senton-mega.html
https://www.hobbyquarters.com/ar722310-flat-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ar721320-button-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ar721320-button-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ar320406-short-course-nerf-bars-2-4x4-senton-mega.html
https://www.hobbyquarters.com/ar722310-flat-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ar722310-flat-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html

Exploded View Explosionszeichnungen Vues Eclatées Plano De Despiece RMER B4R

Rear Hinten U7 & //"/#"/;/HZ/]’/I/‘V/M

Arriere Trasero

/1 T AR721320

AR724303 ? ,,,_éR721 310

) Ef  AR724303
AR721320 B
— A
AR708008 AR713028 ARA330688 \
/ / ( / S I
& / arasio0a1 O/ ARAT24430 O, A330692 i
AR310779 AR330515 AR721303 o, %ARA330699
ARA330687 ) ARA310995 BN ﬁ%
\@\ ©® . AR330515 ARA330692-4) fﬁ),, AR723316
7 ARAGTO044 g T ARA311108 e
AR721303 ARA330688

| ARA330701 ¥

1 ARA3: AR330515
| 1) (NOSPRINGS) == . ARA330588
AR330456- > éi: Py %)
/ N AR721316 N }\\ \
h V' “AR709003 ARA724430 (i

AR330515

ARA311108— —)

S amatrios (g
) G ARA320590 L@  ARAN09S 2
)\ 3 S M ~AR721320
AR722316 ARA330684 N ) 7
: S arac10044 ()
, | D )
[ aRA330701 15| AR700003 ARAGTUOAT
AR330457 (NOSPRINGS) || \_
= / o—0RI21316 AR310779
ARA330684 [ _
\\\ P @ Q) }/ f
//;f/ |/ AR713028 ¥ @
s ART21303:p, 380657
AR330456 AR708008

A \Y Q [
AR723308 \R772415 & 'AR722415

©2021 Horizon Hobby, LLC. ARRMA RC is a trade name of Horizon Hobby Ltd.

Horizon Hobby Ltd is a subsidiary of Horizon Hobby LLC WWW.ARRMA-RC.COM


https://www.hobbyquarters.com/ar721320-button-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ar721303-button-head-hex-machine-screw-3x3mm-10-4x.html
https://www.hobbyquarters.com/ar724303-set-screw-3x3mm-10.html
https://www.hobbyquarters.com/ar721310-button-head-screw-3x10mm-10.html
https://www.hobbyquarters.com/ar724303-set-screw-3x3mm-10.html
https://www.hobbyquarters.com/ar721303-button-head-hex-machine-screw-3x3mm-10-4x.html
https://www.hobbyquarters.com/ara330692-sway-bar-mounting-set-1-8-onroad.html
https://www.hobbyquarters.com/ara330692-sway-bar-mounting-set-1-8-onroad.html
https://www.hobbyquarters.com/ara330699-rear-sway-bar-25mm.html
https://www.hobbyquarters.com/ar722316-flat-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ara330688-rod-end-set-1-8-onroad.html
https://www.hobbyquarters.com/ara320588lower-bumper-mount-set.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara724430set-screw-m4x30mm-4.html
https://www.hobbyquarters.com/ar721320-button-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ara310995wheel-axle-2.html
https://www.hobbyquarters.com/ara610041-ball-bearing-6x12x4mm-2rs-2pcs.html
https://www.hobbyquarters.com/ara610044-ball-bearing-12x18x4mm-2rs-2.html
https://www.hobbyquarters.com/ar310779-composite-wheel-hex-14mm-set-4-4x4.html
https://www.hobbyquarters.com/ar708008-flanged-nyloc-locknut-4mm-silver-4.html
https://www.hobbyquarters.com/arac8003-ar713028-pin-25x12mm-10.html
https://www.hobbyquarters.com/ara330687-rear-hub-1-pair.html
https://www.hobbyquarters.com/ar721303-button-head-hex-machine-screw-3x3mm-10-4x.html
https://www.hobbyquarters.com/ar721316-button-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ar709003-washer-3x8x05mm-10.html
https://www.hobbyquarters.com/ar330456-hinge-pin-4x40mm-4x4-2.html
https://www.hobbyquarters.com/ar722316-flat-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ara330684-arrma-rear-suspension-arms.html
https://www.hobbyquarters.com/ara330771-shock-springs-49mm-165n-mm-942lb-in-2pc.html
https://www.hobbyquarters.com/ara320590-aluminum-rr-suspension-mount-red.html
https://www.hobbyquarters.com/ara311108-composite-slider-rear-driveshaft-set.html
https://www.hobbyquarters.com/ar330457-hinge-pin-4x63mm-4x4-2.html
https://www.hobbyquarters.com/ar722316-flat-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ar390165-body-clip-retainer-1-10-scale-black-4.html
https://www.hobbyquarters.com/ar390165-body-clip-retainer-1-10-scale-black-4.html
https://www.hobbyquarters.com/ar320357-body-post-big-rock.html
https://www.hobbyquarters.com/ara320586-upper-bumper-bodymount-set.html
https://www.hobbyquarters.com/ara702004cap-head-screw-m25x25mm-4.html
https://www.hobbyquarters.com/ara702004cap-head-screw-m25x25mm-4.html
https://www.hobbyquarters.com/ar723308-cap-head-screw-3x8mm-10-4x4.html
https://www.hobbyquarters.com/ar722415-flat-head-hex-machine-screw-4x15mm-4-4x4.html
https://www.hobbyquarters.com/ar722415-flat-head-hex-machine-screw-4x15mm-4-4x4.html
https://www.hobbyquarters.com/ara320585-lower-front-bumper-and-rear-diffuser-set.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ar721320-button-head-screw-3x20mm-10.html
https://www.hobbyquarters.com/ar310779-composite-wheel-hex-14mm-set-4-4x4.html
https://www.hobbyquarters.com/ar708008-flanged-nyloc-locknut-4mm-silver-4.html
https://www.hobbyquarters.com/ara610044-ball-bearing-12x18x4mm-2rs-2.html
https://www.hobbyquarters.com/ara330684-arrma-rear-suspension-arms.html
https://www.hobbyquarters.com/ar709003-washer-3x8x05mm-10.html
https://www.hobbyquarters.com/ar330456-hinge-pin-4x40mm-4x4-2.html
https://www.hobbyquarters.com/ara330771-shock-springs-49mm-165n-mm-942lb-in-2pc.html
https://www.hobbyquarters.com/ar721316-button-head-screw-3x16mm-10.html
https://www.hobbyquarters.com/ara311108-composite-slider-rear-driveshaft-set.html
https://www.hobbyquarters.com/ar721303-button-head-hex-machine-screw-3x3mm-10-4x.html
https://www.hobbyquarters.com/ara310995wheel-axle-2.html
https://www.hobbyquarters.com/ara330687-rear-hub-1-pair.html
https://www.hobbyquarters.com/arac8003-ar713028-pin-25x12mm-10.html
https://www.hobbyquarters.com/ara610041-ball-bearing-6x12x4mm-2rs-2pcs.html
https://www.hobbyquarters.com/ara724430set-screw-m4x30mm-4.html
https://www.hobbyquarters.com/ara330688-rod-end-set-1-8-onroad.html
https://www.hobbyquarters.com/ara330688-rod-end-set-1-8-onroad.html
https://www.hobbyquarters.com/ara320584composite-upper-gearbox-covers-and-shock.html

Exploded View Explosionszeichnungen Vues Eclatées Plano De Despiece BHE B4R
Differential Differential Différentiel {/ '{ z . / . /52 Z/ I / '/@j
Diferencial =% E8

FRONT & REAR DIFFERENTIAL EXPLODED VIEW

ARA310956

~ - h -
~ - b ~
_ ~ ~ - -
- ~
-7 AR721312 > <
AN - ~
N\ - - ~ -
- ~
7 ARA610046 . ~ _
e - " i\ h ~
- AR310775 L @ ~
- - .@ = -~ N
7 (S AR709049 )/
. \g‘ AR310783
’”“@? ~
ARA610044 % Y)
Y A ;
‘ T 7)) AR721312

(/ )
/\V / ) /]
—/

I A

Q ARA610044
/ //‘ -

L, AR310865 [
% N

©2021 Horizon Hobby, LLC. ARRMA RC is a trade name of Horizon Hobby Ltd.
Horizon Hobby Ltd is a subsidiary of Horizon Hobby LLC WWW.ARRMA-RC.COM


https://www.hobbyquarters.com/ara310956-diff-set-37t-135m.html
https://www.hobbyquarters.com/ara610046-ball-bearing-10x15x4mm-2rs-2.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html
https://www.hobbyquarters.com/ar310783-composite-diff-yoke-set-4x4.html
https://www.hobbyquarters.com/ar709049-washer-71x11x05mm-4-4x4.html
https://www.hobbyquarters.com/ar310775-differential-outdrives-metal-4x4-2.html
https://www.hobbyquarters.com/ara311031-hd-input-gear-13t.html
https://www.hobbyquarters.com/ara610044-ball-bearing-12x18x4mm-2rs-2.html
https://www.hobbyquarters.com/ara716034-o-ring-78x22mm-4.html
https://www.hobbyquarters.com/ar310875-differential-gasket-2.html
https://www.hobbyquarters.com/ar310775-differential-outdrives-metal-4x4-2.html
https://www.hobbyquarters.com/ar709049-washer-71x11x05mm-4-4x4.html
https://www.hobbyquarters.com/ara610044-ball-bearing-12x18x4mm-2rs-2.html
https://www.hobbyquarters.com/ar310872-diff-case-set-37t-main-gear-blx-3s.html
https://www.hobbyquarters.com/ar310865-diff-planet-gear-4.html
https://www.hobbyquarters.com/ar610014-ball-bearing-5x8x25mm-2-4x4.html
https://www.hobbyquarters.com/ar713014-pin-3x17mm-nero-4.html
https://www.hobbyquarters.com/ar702002-cap-head-screw-25x12mm-10.html
https://www.hobbyquarters.com/ar721312-button-head-screw-3x12mm-10.html
https://www.hobbyquarters.com/ar310783-composite-diff-yoke-set-4x4.html
https://www.hobbyquarters.com/ar310865-diff-planet-gear-4.html
https://www.hobbyquarters.com/ar709052-washer-12x155x02mm-4.html
https://www.hobbyquarters.com/ar310872-diff-case-set-37t-main-gear-blx-3s.html

Exploded View Explosionszeichnungen Vues Eclatées Plano De Despiece BHE #4H

e N E R AL TION e =

>avoF7TI—=N

I

ARA330690
0O =<

_ N
O -~} AR330451 |
AR330515 "/ |

¢ /ARA716035
/

2, X
ARA330689 ; ‘ARA716036

[
\
ARA330771 \
ARA330666
//
/
/
ARA330691
/
@\
AR330515

Rear Hinten Arriere
Trasero VTR

ARA330701
(NO SPRINGS)

©2021 Horizon Hobby, LLC. ARRMA RC is a trade name of Horizon Hobby Ltd.
Horizon Hobby Ltd is a subsidiary of Horizon Hobby LLC

Front Vorne Avant
Delantero 7o~ #f

ARA330701
(NO SPRINGS)

-

\

AR715008
A )

=

ARA330690

5@ —
AR330515 7 / |
e |
e ARA716035

ARA330689 : ARA716036

ARA330772

ARA330666

ARA330691

©

AR330515

/

WWW.ARRMA-RC.COM


https://www.hobbyquarters.com/ara330701-shock-set-11mm-bore-70mm-length-2000cst.html
https://www.hobbyquarters.com/ar715008-nylon-nut-25mm-4.html
https://www.hobbyquarters.com/ar709012-washer-27x5x05mm-10.html
https://www.hobbyquarters.com/ar330451-composite-shock-parts-o-ring-set-2-shocks.html
https://www.hobbyquarters.com/ara716035-o-ring-26x2mm-8.html
https://www.hobbyquarters.com/ara716036-o-ring-8x15mm-4.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara330666-spring-perch-and-rod-end-set.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara330691-shock-shaft-m3x44mm-2.html
https://www.hobbyquarters.com/ara330771-shock-springs-49mm-165n-mm-942lb-in-2pc.html
https://www.hobbyquarters.com/ara330690threaded-shock-collar-red-2.html
https://www.hobbyquarters.com/ara330701-shock-set-11mm-bore-70mm-length-2000cst.html
https://www.hobbyquarters.com/ar715008-nylon-nut-25mm-4.html
https://www.hobbyquarters.com/ar709012-washer-27x5x05mm-10.html
https://www.hobbyquarters.com/ar330451-composite-shock-parts-o-ring-set-2-shocks.html
https://www.hobbyquarters.com/ara716035-o-ring-26x2mm-8.html
https://www.hobbyquarters.com/ara716036-o-ring-8x15mm-4.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara330666-spring-perch-and-rod-end-set.html
https://www.hobbyquarters.com/ara330515-composite-pivot-ball-set-4x4.html
https://www.hobbyquarters.com/ara330691-shock-shaft-m3x44mm-2.html
https://www.hobbyquarters.com/ara330772-shock-springs-49mm-185n-mm-1056lb-in-2pc.html
https://www.hobbyquarters.com/ara330690threaded-shock-collar-red-2.html
https://www.hobbyquarters.com/ara330689shock-body-11x36mm-2.html
https://www.hobbyquarters.com/ara330689shock-body-11x36mm-2.html

